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QUESTION 1

Which two statements are true about rules in TIBCO BusinessEvents? (Choose two.)
A. Rules have three parts: Declarations, Conditions and Actions.

B. Rules have three parts: Definitions, Conditions and Triggers

C. All rule conditions must evaluate to true for the rule to be executed.

D. A rule executes when any of its conditions are evaluated to true.

Correct Answer: AC

QUESTION 2

Which two statements about channels are true? (Choose two.)

A. A channel can contain many destinations.

B. A destination can contain many channels.

C. All destinations for a channel use the same server connection.

D. All destinations for a channel must use different server connections.

Correct Answer: AC

QUESTION 3

Which two statements are true about In-memory and Cache object management (OM) types? (Choose Two.)
A. Cache OM supports Partitioning; In-memory OM does not.

B. Cache OM supports Clustering; In-memory OM does not.

C. Both Cache and In-memory OM support Fault Tolerance.

D. Both Cache and In-memory OM support Data Recovery.

Correct Answer: AB

QUESTION 4
Which two actions are allowed in a Preprocessor function? (Choose two.)
A. Consume an event

B. Modify an event after asserting it
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C. Create a concept
D. Modify an existing concept

Correct Answer: AC

QUESTION 5

Which three statements are true about decision tables? (Choose three.)

A. Decision table rules can have effective and expiration dates.

B. Concept attributes can be used in condition and action columns of a decision table.
C. Event payloads can be used in condition and action columns of a decision table.

D. Decision tables can have custom columns.

E. Concept properties can be used in condition and action columns of a decision table

Correct Answer: ADE
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